| Threshold Concept

Homeostasis is organisms maintaining a

| The nervous system:
The central nervous

system (CNS) - the
brain and spinal
cord.

- The peripheral
nervous system -
nerve cells that |
carry information to
or from the CNS. .

I Homeostasis maintains
I optimal conditions for
|| enzyme action
“ throughout the body,
as well as all cell
|| functions.
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|| Keywords

- Nerves: Specialised cells which carry
electrical impulses

- Hormones: Chemical messenger produced in
glands and carried by the blood to specific organs
in the body.

- Organism: Living things that are capable of
reacting to stimuli, reproduction, growth, and
homeostasis.

- Regulate: control or maintain the rate or speed
of a process so that it operates properly.

- Response: as a result of the stimulus that is
detected by the receptor a response is caused

The menstrual cycle

The menstrual cycle is the reproductuve 5.

LH stimulates secretion of

cycle in women, which starts with a period
(menstruation), if the woman is not pregnant.

pragesterone by the empty

2, There are four harmanes invalved: follicle 6.
stimulating hormone, luteinising hormone,
oestrogen & progesterone.

Pragesterone inhibits the
release of LH and FSH

7. Oestragen and
progesterone maintain the
lining of the uterus

3. FSH (released by the pituitary gland) couses
€ggs to mature in the ovaries,

4. FSH stimulates ovaries to produce
gestrogen

5. Oestrogen inhibits further release of FSH
and stimulates release of LH

6. LH (released by the pituitary gland)
stimulates the release of an egg (ovulation)
from an overy

follicle I
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. Particle - A L . .
| All partlcles must collide with a : | mt:Jr'T'l'Tue:Le particleis thesmallest possible unit of |
| minimum amount of energy in | | Energy - Energyis what holds theatomsina |
molecule fogether
l_or'_de_r'_fo_rfa_ct _________ | | Collision - If the two molecules A and B are to |
|_ _______________ | : react, they must get close enough to  break and make :
; thenewbonds that are needed in the products

| Rate Of reaction I | Reactant - A substance put into a chemical reaction |

| Rate of reaction is how fast | | Product - A substance made in a chemical reaction |

| reactants are changed into | |

| products | F:::::::::::::::::I

- - I Catalysts

| ——————————————— * Catalysts: increase the rate of a
reaction without getting used up.

* Catalysts decrease the activation
energy required to begin the
reaction.

The rate of reaction is
| directly proportional to the

number of successful .
* Catalysts are often used in

collisions. cataysts g edin
| «To react: particles must fur‘s'r r industry to speed up chemica
| collide processes.

| + with enoughgactivation
| energy to be successful.

——————————————— 7]+ Therearevarious ways to measure quantity of
reactant used or quantity of product formed.
Measuring the volume of gas collected can be the
easiest way to measure.

Effect of Temperature:

*Increasing the temperature increases the
speed that particles are moving

* This means there are more frequent
collisions, and those collisions have more
energy
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The units of rate depend on what you are measuring.
For example, when measuring gas incm 3 you will end
up with rate units of cm  3/s. When measuring the
change in mass (g), you will end up with units of g/s
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| Effecf of Concentration: |

+Increasing concentration increases the

I number of reacting particles. |
| «This increases the frequency of collisions |
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| |
| |
| |
| |
| |
| |
| |
| |
I

Effect of Surface Area: '
«Increasing the surface area increases the
proportion of (solid) particles available to

react.

*This lncreases the frequency of colIusuons
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| Threshold Concept
| Identify that there are three types of

Atom - the smallest particle of a

| radiation chemical element that can exist
:_ _____________ EEEE Proton - positively charged
| Alpha, Beta and Gamma G

Electron- Negatively charged

particle
Wave - Energy transfer method

| |
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| particle |
| Neutron- Particle with no charge :

| |

I I
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| Nuclear Model

Rutherford's Model Of Atoms
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